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Algebra 2 Final Exam Review: Chapter 1 -
For #1-2, solve each eguation.
1. 3x+D+2(x—-4)+1=-26 2, 3x—1)=5x+2)-2
i - ﬁ -
X=-o y )
v )‘ i I
For #3-4, simplify each expression,
24x%y3 30a*h3c® .
— 2. 4. _
20x2y5 * 15a3¢ O 4 % JQ}
X no7C
‘7;,}(:; ZT%
For #5-6, solve each inequality. Graph your answer and write your answer in interval notation.
5 2(6+4x)=12—-8x 6. —5(2x+ 7 +x<—x~11
X 70 R
For #7-8, solve each system of equations,
7 —3x+2y =17 g 4x + 6y = 22
" x5y =-10 " —2x -+ 4y =10
1 o 6 ){ jponit 1
= Ly
Y Y =D
For #9-10, graph each line, ID -5 %
9. 5x—y =10 B Y- 10.5x+4y=20 [} =X T=
¥ !‘\}J 55)\ v [J ot X




For #11-12, use a table to perform each transformation of y = f(x). Graph your answers on the same coordinate
plane as the original function.
11. Reflect over the x-axis, down 3 12. Vertical shrink by 1, teft 4

-‘,_4) (.4

NS S S
6 S NS
. |
For #13-14, graph the data. Determine the parent function and transformation.
i3. 14.
x -2 -1 0 1 2 X -2 -1 0 1 2
y 8 2 0 2 8 y | 8 1 o} 1 -

J\”éﬂﬁ %
s : \fff"‘- T e
HERCN Wy 2 678t 8_:_? veFleCt .

N >f.
i ;VC/

For #15-16, graph the following on your graphing caiculator. Determine {a) the parent function (b) any
transformations {c) domam and (d) range.

15, g(x) = (x = 2)° - 16. g(x) = (x + H* :
LLopic mrl% ﬁfm W2 g ldiodmbe v oz e, lebt 4
4 - & veYT uns. AO% % Vﬁﬁ‘ TNz, [)UJHQ?

2 A w - 0 ,0)




{9{ #17, solve the application problem.
Ty
17. The success of a shopping center can be represented as a function of the distance {in miles} from the center of the

‘I i
X population and the number of clients (in hundreds of people} who will visit. The data is given in the table below:

—

# _of costumers (x) 8 7 6 4 2 1 N % NRNGS
Distance {y) 5 19 [25 |23 |34 |40 3
% e

a. State the type ofr correlation
~ Nganve
h. Fmd the equat;on of the line of best fit.
S E eGR4 5,5 2 2 GLY 0 12
C. Flnd the correlation coefficient.

0.971

d. f the mallis located 2 miles from the center of the population, how many customers should the
shopping center expect?

e. To receive 500 customers, at what distance from the center of the population should the shopping

centre be focated?

Algebra 2 Final Exam Review: Chapter 2
For #1-3, state if the graph has a maximum or minimum and find the axis of symmetry, vertex, and roots. Graph each

function.

1. g(x)—21 —8x+5 2, g()"——Z(x—Z)z—!rlO
SEREERE MO 1 Up/Down UE Lo x_ ) = Up/Down LU/ T 1 dbw}q

Max/Min rﬂﬁ X

AQS Zs

Vertex ('2' ] [D }

Roots ({j” ;0\
(3.9%,0)

Max/Min h‘\\m o
AOS ?)/LIL =& '
Vertex (Z’ I A% 2

R f Roots (D 77)0\
ot (3.22,0)

3. f(x)~(1—1)(x—5)
_ Up/Down UE
F - Max/Min min
ff nos__ 9
o ;}ﬁ Vertex (%; .,.4,};2

\ // Roots(]fov(‘%;0>

mu)-xq\-um*
4
L~
=
el
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For #4-6, find the zeroes of each function by factoring.

4, f(x)=x?+42x-35 5 fx)=x*-8x—-9 6. f(x)HZx —11x+9
/ b T J "; i}m“ \,'" i 0 / — \ ;r e
\ 7 i\n = A { /\" a/di }
For #7-8, write a quadratic function in standard form for each given set of zeros.
7. -Sand1 8. Yand-2
/ ?:-‘ / L ,z- - ,,‘f?:" ; e 7
‘{"‘L’JL)\ % %A)x % «").}v éﬁ‘
For #9-10, use complete the square method to find the zeros of the following functions
9, x°+8x+20=0 10. x2 - 8x—17=0
- . !-A T * f w= ! #Z
X =Lz ¥ = t{a%

For #11-12, write in vertex form and state .

11, f(x}=x*-2x+ 17 12, f{x) = 4x? -24x + 31

(y-D" ) L0 v:(MJME L) -\ E (%, '3>

For #13-15, simplify the square root.

13. V—48 14, —3\/—12 15. V=256
4% ~19iVZ. 1]

For #16-21, perform each indicated operation and write the result in the form a+bi.

16. (3~ 50) + (8 - 5) 17. (9 + 78) — (9 + 20)
=101 53
18. (4 — 40)(2 + 99) 19. {35 20, 245! 21, 3—5‘ A "Cf}

HH 1291 - 523 =

For #22- 23 find the discriminant, state the type and number of solutions and solve using the Quadratic Formula.

2.2 -10x+3 DS AYCAL 23.2x% - 10x +18 =0 D1~ HE A TMAG.
MRS I y = 6L
For #24-25, graph each inequality. ‘ Y s

o ‘;”j e VP
e maxsin Y1 V) =) et
AOS Hﬂ/ R
Vertex ( Z 0 ) o 1”—‘ T PN Vertex ( 610 ) |
roots NON € i’) % s+ i/ Roots NONE
Test point { OQD) D rest point {010 )

D 24 % 07-a4v

For #26-28, solve each inequality aigebraically. Write your answer in interval notation.
26. x2+ 13x +20 < -2 27. x? —11x = ~10 28. x2+6x+3>10

(MH }'ﬂz"b ("CD;F‘]UDOE[’D) (“@;“7>U(1?®>

25. y> (x 3)2

s
Up/Down D(:) W Y&]
Max/Min Yﬂa ){ :
AOS %

.a,-\
‘%
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Ky
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For #29-30, let f(x) = x?, describe the transformations.
29. g(x) = —(x + 3)2 30, g(x) = 2x* -5
F 3‘{3 OL YDes f C}> ic"‘ \,'6 \/1 {}') ‘}/‘”7

PONE V. lef+ 7 vert, wfarV‘gﬁoup

For #31-32, solve each system of equations.
(v Iy B
31 {y =2x* —5x—20
y = 3x + 22

(143 (-31%) (BN (B0

For #33-34, solve the application problem.

' by 2

{y—x +2x —4
y=2x+4+5

33. Tessa is running a chemical reaction that can be models by a quadratic function. When she begins the reaction

there are 20 grams of sodium chloride present. At 2 minutes there are 48 grams of sodium chloride. At 5

ol
?) minutes there are 60 grams of sodium chioride. Write a quadratic model for her data. At what time will the

7
Y = ~ LN BN A 2.0
Ih MNLICsS

LQO sodiumn chloride be used up in the reaction?

{HINT: Make vour own tablet)

34. A stuntwoman jumps from a huilding 73 feet high and lands on an air bag that is 9 feet tall. Her height
above the ground h in feet can be modeled by h(t) = 73 — 16t2, where t is the time in seconds.
{a) How many seconds will the stuntwoman fall before touching the air bag?

4=T%-ly bt >
+ =7 5000Nc%S

(b) Suppose the stuntwoman jumps from a building that is half as tall, Will she be in the air for halif as long?

Explain? qﬁ%@-%”}@ﬁzﬂ ND I.

=%

Algebra 2 Final Exam Review: Chapter 3
For #1-4, rewrite each polynomial in standard form. Then identify the leading coefficient, degree and number of

terms, Name each polynomial.
""+7>{ % ) 2 ext b2k H X=X A 2

1. 7x?+4x5—3_ HX
Leading coefficient & Leading coeﬁacrent (o
Degree 20 J NumberofTerms"il

Degree 2 5 Number of Terms _
Name AUINTHC TrHNimi m Name ChbiC POIYNOMIA]

A )

3, 10x-3-2x2 — 02 =P =ZNHON-D 4 7 s —TAEHY
Leading coefficient _~ "7

Degree &= 2- Number of Terms Z.

Leading coefficient =

Degree Number of. Terms L}
Name(® 4] Name K14 2 a
For #5-7, add or subtract. Write your answer in standard form.
5. (4x*+3)+ (5x*+4) 6. (10x%—7x2)— (Bx® +2x%2 +4) 7. @+2xt—x) - (T +xF+3x)"

BFy 1X%-q 5 %4 Xux -5




For #8-16, find each product,
10. (a + b)(4ab + b?)

8 3y(2x% + 5xy) ) 9. 8(2x+2)
+Fe AR 2= Vg - ‘i, 7 P
(Y 1 ’.?)\g [3galt Hoth
11. (8m’+ 2)(7m — 3) i (3x + 3)2 13. (3x — 2)(2x3 — % + 4x + 4)
— ¢ Uo7 RV I VA
U= 0M=U gyl EXCRTHIG
14. (p* —p + 1)(6p* - 8p — 3) 15. (b —5)* 16. (x + 3y)*

bptp ®illp™ il p -2 pRIGRYIGL-125  (PraNy LIz

For #17-24, factor each polynomial completely.
17. 3x% 4+ 6x% + 5x + 10 18. 21v® + 56v% — 12v — 32

I (YRR VDY () (36°5)

s 4
:‘22\.,374)6 + 81x

19, 12a% — 20a* + 21a — 35

20, 21x% — 7x% + 6x — 2 21. 125 + 8u?

(IXH(BY-T) [ Be20)(25 U HHI)

\..

23. 125 — 27u3 \ 24, 8x* +x
’ Z -
(5-5UN(2% HBUTAUT) X (X0 ) (X =2X T )
For #25-27, identify whether the function graphed has an even or odd degree, positive or negative leading coefficient

and the end behavior of the function.
25. 26. 27.
‘ AY

AL A
AV

Odd or @ @or Even? Oda or Even?
Negative or P@e? Negative or P@e? Ne@e or Positive?

L%

¥ e

Asx_—)oa,f(ﬂx) T Asx — o, f(x) - +00 Asx — o, f(x) -
As x — o, f(x) 0 Asx :3-00',}‘(1’)—} -0 As x - 00, f(x) = 'T-CD '

‘For #28-29, let f(x) = x* — 1 preform the following transformations. :
29. Shiftright 1and up 5

28. Reflect over the x-axis and shift down 3
x~1)E =] 4

A
et \ ,&u‘zﬂ
Y2 ZRED




Algebra 2 Final Exam Review: Chapter 5

For #1-3, simplify each expression. Assume all variabies are positive.

1. ¥125x°
, 2
o)

8

For #4-6, write each expression in radical form and simplify.

5
4. 648

ZGZ%’Z@

For #7-9, write each expression with rational exponents,

7. Yot F;}}lﬂ% .

For #10-15, simplify each expression,

10[. 4% -4g u
110 = LT
i + 2
13. (27-64)3
q . }L@ e
For #16-25, solve each equation.

16. Jx +6=7 L2
) e

18. \f2x +5 = [3x -1
X =
i

20. Yx -6 =33x + 24

(0

£
.

For #26-29, solve each inequality.

26. \[3x +6 <3
[21]

28. Jx +7 2 J2x -1

R=d

3
27
n—

273

i |
() 5
"l 243 5

a=

17. /5x =10 ¥ =70

19. \/x+4=3~./; >/ ﬁ:*/
(!

21. 3%x =37x+5
Y=/4

23. (x+4)% =6

Y=%7.

25. 4(x —12)% =16

No—57.

27. JXx—4+3>9
X 740

29. J2x-7>8

X 744

7w

I XZ* o 564X’ L}}(
CVel s
D 7.
5. 278 6 (_8)%
7= 78 =0
8. (\/'@)3 9, @
“‘{)C‘fﬁlﬁ”ﬂn %U}H/ﬁ:"

15. (—27)(6)% - DN &




For #30-33, solve each equation.

6 e 7F LN 4x  3x+5 < s NN
30, x ——-=1 Jou, A 1,0 = L e .‘;: ¥ o
x >& A {\ 3 x=5  x-5 /‘; RV R VY O
r
g3y 3% . 2x42 33 X . 2 >f — [.‘ Y oo ,,,,,}:_}!. 6)‘
“x+2 x+2 “xtd 2 Zx+8 AR a4 i

Ry - " 7 L 4 7La
>§ @‘Z_’ }\ e é(:' e/)l_ .
Algebra 2 Final Exam Review: Chapter 6

%-7, match each situation to its corresponding graph.

¥ T 1 : f
- i N ERdEEANEE
nn N
=X 5 : rx f\éx :
Graph A Graph & Graph ¢ Graph 0
s : . ¥
L : BN y
—A : i
S FaRuzant: -
: : [ ‘ *7' 774,. A
: L.. /f N ! B
‘ Graphé i — ;ira;:h F ¥ Qreph G *

x A bowling ball rolls down the alley and drops into a trough behind the pins.
>< As a flower vase is filled with water, the level of the water rises.
X A football is kicked and then caught by a person who runs down the football field with it.
X The sales of wide screen televisions increases rapidly, peaks, and then levels off. -
X fce cream sales were steady all day at the music festival,
7 Arestaurant opens 1atelin the morning, experiences a lunchtime rushf and then empties right before the dinner

—

—

rush.

x The noise level of traffic decreases after the evening rush hour.

For #8-11, evaluate each piecewise function for x = -8 and x = 5.

o f(x)_{ZX if x <0 2-x ifx<5
' 0 ifx=0 9. g(x)={-x* if5<x<8
6 if8<x

f(-&) =-10
£(8) =0 q(-%> =10

@C{;} 4

v

A L
i




2x+4 ifx<-8
10. h(x)z -1 if —8<x<5
X if5sx 1. k()=

N8 =12 (2725

For #12-29, use the following functions.
f(x):i gla) = x*
2x
For #12-17, find each function and the domain.
12. (gh)(x) 13. (g + h)(x)
T I7F -
& % 2.0 a9 -
15, (fg)(x) 16. (gh)(x)
o
. M
For #18-23, find each value,
18. g(k(9) 19. h{g(—-3))

G |

21. k(R(12)) 22. f(g(4))
2 L
Z 7

For #24-29, write each composite function and state the domain.

7-% 1<x
5

h(x):x—S‘

25. h{g(x))

24. f(g(x)
| v =2
27. h(k(x)) 28. k(g(x))

[ -9 Xz0 X B

if x<-5 P
if —5<x<1 -);/5) -
24

k(x) = \fx—

14. (g — M)

MEYE 2N &

26. f(k(x))

A yzD
Z&X

29, k(h(x))

b 120

2x - 1H#X < =1 \ite the rule for each.

For #30-31, the functi ) = . .
or use the function f(x) {xz 1l xS -1
30. Reflect over the x-axis, down 3

~AR-Z. ¥4~
=X X7~

31. Vertical stretch by 2 and right 4

H(X-4) =2~ =HX -

(y-4)G |

LL/YE A Y M) -]




For #32, make a table, equation and graph for the situation.
32. A bicyclist begins a trip of 104 miles. The bicyclist averages 8 miles per hour |nc|ud1ng stops. Create a
table, graph, and equation to represent the distance the bicyclist has left to travel with relation to

time. Find the total time it takes for the bicyclist to complete the trip.

b m =B X HOY
s & o " v
O [W0H 5 ’
i Cf u \ ,\ { \\ y //
AL | R
% {00
For #33-34, graph the piecewise function.
33,10 = {—Zx +26', ifx<-1 _‘3 Jfx <=2
I —-5x%,ifx = -1 34.f{x} =< 0,if —2 <x <2,
- \. , o . 6,if x> 2

AT 8 (40) e
e - (0,0) o

For #35-36, compare the functions using end hehavior.

35 f(x}=-2x* & gix)=2x%12x%+9 36. f{x)=-3* & glx)= Y
D XY+ Fx) 0 GK) 2 102 06 X2 +0, H{X) “‘-*"‘0‘3’ gui)
XA, FX) =g (K) 10D Ots 8yt £ O 0(&)'3”0{9

For #37, compare using average rate of change

37. The cost of renting a pedal boat is shown for Company A and Company B below. Compare the average
rates of change and explain what the difference in rate of change represents,

2

CompanyA
Number of

Hours Lost
) WG‘S S?BS
10 | 3880
1.5 S'B 75
¢t 2 3 4 5 6 7 55 e
Number of}wurs - T30 139350

W e R

%558 _se  17:57175 g5

w-\ =05




Algebra 2 Final Exam Review: Chapter 9

Find the first 5 terms in the sequence:

1. 1a,,_6 2(an-1) 2. a,=n*-2n Gy e O
| Og =4 Gnz-2 Oy 71 0 =0 Og =70
By 10 O = -1 Ay = =%

Find the first five terms of each arithmetic sequence
= - L
a--ssd=-3 =750 qu= oS
3. O“Z‘,ﬂ,-%‘j Cj{ mﬁ___,[‘?%
Az =% 97

Find the indicated term of each arithmetic sequence.
_ -~ L -
4=40, 3 yoty Oy = HO z%(m )
Oyt =00

Find Sn for each arithmetic series described.

4.

. a=3q, (320, iy $weny Gn r;.;«z](::
s ‘? et 6. n=l e 1
'Jn - @( =, (0‘7? ”‘“’H/}

Find the next two terms of each geometric sequence.

7 ~927,-8L. U, - 1724

Find the indicated term of each geometric sequence.

8. aizs’f‘:7,n:6 & ::'6(75@.”\ ”;%A{O%%

Find Sn for each geometric series described.

'“‘ﬁ’ N =128

-2, =486, ,_3 7 “on 15

; = (- = O LT
acr 5g = A(EE) = a8

10. n=l

1 54(4) wy;; NoSUM |




